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Ray's Office: HOR 103
Testing Room: Suite 107

Open hours: 7 am - 8 pm

RocketBook for making PDFs out for cheap.

Free "Scannable" app for iPhone (Evernote Brand)
I've seen good results from Camscanner.
GeniusScan app

Notability app. Save on iPad and just upload to D2L.
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6. (10 pts) Find an equation of the tangent line to #(x)=sin(x) at _\-=§. Then sketch the graph of

this situation, with the function and its tangent line, together on the same set of axes.
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7. (5 pts) Use your result from the previous problem to approximate sin(65°|
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8. (10 pts) Find all values of x such that f (x)=1+2coslx) has a horizontal tangent.
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1
B1 (5 pts) Find the derivative of / (x)= , by the definition of the derivative.
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B2 (5pts) Prove that lim [ + Sy+2)=26
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